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o W7l A #& 34 10kVA, 220V
O Cable 740] 2 2 7] :10m, 8md
Vbase = 220V
VAbase = 10,000VA
%Rt = 27%, %Xt =
= 2.1977{(ohm/km),
= (.1152(ohm/km)
Length = 10(m)
Rt = (%Rt/100) X (Vhase®/V Abase)
= (2.7/100) x (2207/10,000)
= 0.131(¢Q)
(%Xt/100) X (Vbase®/V Abase)
(1.3/100) x (220°/10,000)
0.063( Q)
Rl = R xLength/1,000
= 2.1977x10/1,000 = 0.022(Q)
Xl = X xLength/1,000
= 0,1152x10/1,000 = 0.001( Q)
7 total = ((Rt + RD*+(Xt + XD*)*
((0.153) *+(0.064) *3*
= 0166( Q)

1.3%

Il

Xt

wrghA] FEA F(Isc) =
Isc = Vbase/(3XZ total)
= 220/(43%0.166)
TE5(A)

200011 39



=}, At oAl
1) ASTHEE

TRANSFORMER
3 @ 200KVA

) 22 9KV/380v

) (© wcce 2 4008

TV 2003q x 20M

T -

f) ;L) (@) wcs

3P 1004

1V 38sq
X 30

% F3e 100% AF7N2 HFE

2) Bty ¥ M2 i HA(IEEE Data)

Ak A
E u ot 7| 34 M2 (0 /km)
200 md 38 md
R 0.0137 0.0989 04771
X 0.0332 00938 .1047

3) Ak ek At
7h TR MCCB 400A)

R tot = Rt + Rl = 00137 + 0.098%
x 20/1,000 = 0.0157( Q)

X tot = Xt + X1 = 0.0332+0.0938
x 20/1,000 = 0.0351( Q)
S Ztot = (R tot®+ X tot™)* = 00385( Q)

b ©EA F(Isc) =
Isc = Vhase/(V3 X Z tot)

= 380/(¥F x0.0385) = 5700(A)
Ag7|2FEe] dFHd7 FU9&FS Wy
7] 2&F AAA R a2 AAEE
304(A) x4 = 1216(A) 0|2
FATE Y AGEFE
5700(A) + 1216(A) = 6916(A)
weka 75(kA)eld dB

L) ZHMERETI(@ MCCB 100A)

R. = R tot + Rl.= 00157404771 X 30/1,000
= 00300(Q)
X, = X tot + Xl,= 00351+01047 X 30/1,000

= (0.0382( Q)
oo Z, tot =[R.T X,71F = 0.0486(Q)
wefa SEA F(Ise) =
Isc = Vhbase/(V3 X Z, tot)

= 380/(J3 x00486) = 4,514(A)
AE72 R 9EHF FYF 1216
(A)E 2t 7HMART7] 9] A3
4516 + 1,216 = 5732(A)
w2} 75(kA)el g A4

4. MY BPA-SXID7] BFAXHHR(KA)

z = FEE L DA L
600V - 25 5 -
30AF 460V 15 5 10 -
220V 2.5 10 25 -
600V 25 5 75 -
50AF 460V 5 10 14 -
220V 10 25 25 -
600V 5 75 14 -
100AF 460V 10 14 18 -
220V 25 25 30 -
600V 75 7.5 25 36
225AF 460V 10 14 42 65
220V 18 25 85 125
400AF 600V 18 22 30 35
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460V 25 30 42 80
100AF
220V 35 42 85 125
GO0V 22 30 - 35
600AF 460V 30 42 - 50
220V 42 85 - 125
600V 22 30 35
8U0AF 460V 30 42 - 60
220V 42 85 - 125
600V - 45 - -
1000AF 460V - 65 - -
220V - 100 - -
600V - 45 - -
1200AF 460V - 65 - -
220V - 100 - -
2 LGAA Catelogue 718
5. MY HHAY] FHAXHHEFR(KA)
= = a8 xE IR g
T ge0v - 5 10
30AF
220V 25 10 25 -
460V 5 10 14 -
S0AF
220V 10 25 25 -
460V 10 14 18 -
100AF -
220V 25 25 30 -
460V 10 14 42 65
225AF
220V 18 25 85 35
460V - 75 - -
400AF
220V - 42 - -
460V - 42 - -
G600AF
220V - 85 - -
460V - 42 - -
800AF
260V - 85 - -
460V - 85 - -
1000AF
260V - 125 - -
160V - 85 - -
1200AF
260V - 125 - -
= LG4A Catalogue 33
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